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OA&EHISTIH 240
OCHES +ESTI1(00,pH)
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ORZHIZX=EE 0ISHSUR=
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OJISARHMEAS NEEH H& 2 HE
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14,5003 »40CH* 123 6,960
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OI=2E2 220l 28t MFHE EEy
e U WA 2 2
22,000,000 22,000
Hes AE SZNEAE 544,533 312,640 231,893
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403 AXIEHHSAH=201H 495,000 0 495,000
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OE22HE AlZ HHED
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201 fet=2 3| 12,560 12,560
01 AtR2t2|HI 12,560 12,560
OUtEH === 20,0002 +5024 1,000
O3 HAANSRH HEEZSEES
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oMALFTSEr+2 330,000 224 660
OXNESYAM HEE 4223 728 500
(@F=F= 200,000 x18f A 200
@ 100,000 *38+ A 300
OYRL21UAM =l 10,0003 *80 =82l 6,400
203 HE=AH] 15,000 15,000
03 A= PR FAI| 15,000 15,000
0BA[H YLET 9,000, 0002 9,000
OBABY BOH Y QAL =T
6,000,000& 6,000
AHY SEotks dEAl 78 3,345,844 2,828,457 517,387
= 849,120
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SMEE dEs) 629,926 662,149 N32,223
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201 et 3| 10,564 10,974 A410
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M ol SESts dETAl 28
Hel dEEAl 3 xd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 5,400
Al 21,600
301 EtE NS 270,000 100,000 170,000
Jl 243,000
== 5,400
Al 21,600
01 AR 2EHSHS(RNEXRTH) 270,000 100,000 170,000
oA HIlc A& M =0
270,000,000 270,000
Il 243,000
== 5,400
Al 21,600
SdIOIEXM2] XIZ 1,500,240 1,326,760 173,480
= 750,120
== 225,036
Al 525,084
402 2I2E X201 & 1,500,240 1,326,760 173,480
= 750,120
S 225,036
Al 525,084
03 2IZ+LAEAIZYI 1,500,240 1,326,760 173,480
O=dI0IE XMl XI&
1,438,080,000& 1,438,080
= 719,040
= 215,712
Al 503,328
O=dI0IE HEMY K&
62,160,000 62,160
= 31,080
= 9,324
Al 21,756
OHls - AE 25972 =4 116,306 96,834 19,472
101 e124d| 57,686 55,034 2,652
M ORNZZ2NSE S 57,686 55,034 2,652
OoltdsE 23 22Y 51,886
oJlzs 83, 1502 «8H 262 3 51,886
O4i2E JI2RY= 5,800
Oo=ggs 51,886,000 +4. 5% 2,33
OH3=EE 51,886,000 +3.495% 1,814
OFIIRAEE 1,814,0002 %12.27% 223
OunE=s 51,886,000& *1.75% 909
O4t=Es 51,886,000 * 1% 519
201 fet=3| 14,500 2,700 11,800
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01 At2t2ltl 14,500 2,700 11,800
OOIMSAIE B5 OHY 340t
70,0003 %1004 A 700
ORIMOtdSE 2t S2= MH
1002 %10,0000H 1,000
OOt SE L2 SH+=E
100,000 4 & »23] 800
OZ MAIX 23 EH| 12,000,000 12,000
206 M=l 9,120 8,100 1,020
01 M=4l 9,120 8,100 1,020
O0tdsS=E &I 9,120
O=Ji0l & 58 2,000,000& 2,000
ORootdSE EXNASOILMN S)
34,0002 = 180K 6,120
Ootds= HOl 200,000 55 1,000
301 EtE NS 35,000 31,000 4,000
14 0Bt 243 35,000 31,000 4,000
OOlisS=E PARE AH24 35,000
Oxx = diEf 2 50,000 »60024 30,000
Oss = did 0] 2
25,0003 %2002 5,000
OrH S = TIoHOI AL 167,800 210,000 N42,200
= 33,900
< 10,170
Al 123,730
402 QI”F X201 & 167,800 210,000 N42,200
= 33,900
== 10,170
Al 123,730
01 QI XH2AILE X (KHMITHE) 100,000 70,000 30,000
OOt =S TIoHoIZAIE AXI(FIHAIHI)
100,000,000 100,000
02 QI X2 AL EE(0IXTHE) 67,800 140,000 AT2,200
OO =E TISHHIZAIE &X
67,800,000& 67,800
= 33,900
= 10,170
Al 23,730
OFSS ULioHHE 6,000 6,000
201 er2 3| 6,000 6,000
02 S3=gHl 6,000 6,000
OO0rd== uloioe EXID| =Al2eld
50,0002 x10CH =12 6,000
OrdsZ Tlol 24 64,000 80,000 16,000
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301 EtE NS 64,000 80,000 A16,000
= 19,200
Al 44,800
14 DBt 2 a=S 64,000 80,000 16,000
OOtES=0ll 2l Wol2at
64,000,000 64,000
=S 19,200
Al 44,800
Ords= Toixet X 225,000 244,860 19,860
< 36,000
Al 189,000
201 Eer23 | 54,000 47,260 6,740
= 6,000
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01 At2teltl 33,000 25,000 8,000
ORNOrlSE 28 =oIHX
4003 *12,5000H 5,000
O0rsS= AFMX2IHI 20,000,000& 20,000
== 6,000
Al 14,000
O0IsA! ALHIX el 8,000,000& 8,000
02 s5=34l 21,000 22,260 1,260
OOtd4S= LA 28=
14,000,000 14,000
ORMNOtESE ZE2ACIANAE FX2c]
140,000 +50CH 7,000
206 MH=HI 6,000 6,000
01 MHZH| 6,000 6,000
OLIHLX AEE 25 S
120,000& +50& 6,000
301 LEtE N = 165,000 191,600 226,600
= 30,000
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4Bt 2as 165,000 191,600 A\26,600
OOtMSE ZESAS(FItAIGHI)
65,000,000 65,000
OltlsE Z2l2H= 100,000,000 100,000
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Al 70,000
MEfAwet = €K 100,700 40,700 60,000
= 50,000
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M siMoiAy|(HARRSY BARMY)
&elr D=3l (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
CENCEISIEST
20,0003 *18H x5« 12& 21,600
02 X0l 4,800 4,800 0
OO (A2 HE)
200,000 x2F «12& 4,800
203 AR F=&lH| 14,200 14,200
01 J| 2GRS 6,000 6,000
OJ|1=H(4=2) 6,000,000& 6,000
02 R RFAIL| 4,600 4,600 0
OF A AR FEIY| 4,600
OIIZEH(100Z D) 40,0002 *100Z 4,000
OJ|Z=H(400E NHXI) 30,000 x20H 600
M PA2IHRFALI 3,600 3,600 0
©J|ZFH(2021013t) 300,000& <12 3,600
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I S Re toletd x4
el 228 - ss8 JISHs UsS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEAACZR JI=UOIL 96,215,234 97,364,234 A1,149,000
= 56,590,224
Jl 315,100
= 11,329,021
Al 27,980,889
S JHRE OiolEd =4 96,009,920 97,326,404 A 1,316,484
= 56,432,934
) 315,100
= 11,329,021
Al 27,932,865
S2% - s34 J|FHs Us 792,370 222,820 569,550
Jl 315,100
Al 477,270
Jl=Est A 168,970 96,270 62,700
201 er2 3| 54,970 52,270 2,700
01 AtR2te|HI 54,970 52,270 2,700
O2&ItA HHEZH Helll B2
18,000, 000& x32! 54,000
OtiEz st=HelA H3ld|
850,000& %12 850
Oti=2d Hell Z208 HOIZQI0IEM A
Sz 120,000 12 120
203 =4l 2,000 2,000
03 A=A PR FZ| 2,000 2,000
OJI=IIEHP R =& 2,000,000& 2,000
206 M=l 2,000 2,000
01 M= H| 2,000 2,000
OJ&dE g9 JI2Z2 08 MEM=
10,0002 %200 *13] 2,000
207 ARl 100,000 40,000 60,000
01 H2E4H| 100,000 40,000 60,000
O202HE 2a0tA &8 FAM 24
20,000,000 *12] 20,000
O20288 = 240t~ HiED AEAHE A4
20,000,000 *13] 20,000
ORMI3Xt HF=Al JI=2D| HSUHY =8
60,000,000& *13] 60,000
BASEAJME 23X 200,000 0 200,000
) 100,000
Al 100,000
307 @120l & 200,000 0 200,000
Il 100,000
Al 100,000
02 LB AANHEE 200,000 0 200,000




A SF2e2] I
M ¥ HRE oI E =4
=®Hel: =28 - 558 J|IFHs S EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OEtAZEHXAHEH 2Z X
200,000,000& 200,000
| 100,000
Al 100,000
EAIOIEN IOt CIMEIE RIZ 299,200 80,520 218,680
| 148,000
Al 151,200
201 B2 AL| 3,200 4,500 21,300
01 ArR22lt| 3,200 4,500 21,300
OEIAIQOIE oty & AIFN HE
150& 8, 0000H 1,200
OEAIMQIE It EE2 M
1,000& *2,0004 2,000
301 LPBNF 296,000 76,020 219,980
| 148,000
Al 148,000
14 JIEt2 &S 296,000 76,020 219,980
OEAIQIEN It CIHIEIE K= 296,000
OQIHIEIE XIZ(O12)
10,000 26, 600 A CH 266,000
| 133,000
Al 133,000
OQIMEIE XIS (HKI)
2,000,000 *15&H K 30,000
| 15,000
Al 15,000
NSIH S$HAZQIEN 29 92,200 4,030 88,170
| 46,100
Al 46,100
301 LPBENZ 92,200 4,030 88,170
| 46,100
Al 46,100
14 JIEI2 &3 92,200 4,030 88,170
OXISXt EEAHQIER CIMEIE XI=
50,0003 *1,844CH 92,200
| 46,100
Al 46,100
HIMHREESAIRE 240IA MHAHALEE(AIZ) 42,000 42,000 0
| 21,000
Al 21,000
307 212+01 ™ 42,000 42,000 0
| 21,000
Al 21,000
02 QIZHBAAIHE R 42,000 42,000 0




FA BE2U2F JI=UHII
I 9f JiRe toletE &d
el 28 - sSH JIRHE US EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHIAHAF2AIE Y 2a0tA JAHAZE X
o 42,000,000 * 100 2 42,000
Jl 21,000
Al 21,000
e tholed Jigt =4 5,053,866 5,651,522 A\597,656
= 2,752,300
= 417,280
Al 1,884,286
OIMIBIXl SYUCHIZ olg ZAl X (34) 330,000 336,000 26,000
= 165,000
Al 165,000
101 21AH| 330,000 336,000 26,000
= 165,000
Al 165,000
M ORNZZ2NSE S 330,000 336,000 26,000
OOIMIIX SHUCIHE 0 Al Q12AHI(1
4%, 8g) 299,600,000 299,600
= 149,800
Al 149,800
O4i2E JI2RY= 30,400,000& 30,400
= 15,200
Al 16,200
A2 AMEE SXAE ZX XA 3,240,000 3,600,000 360,000
= 1,800,000
= 288,000
Al 1,152,000
402 2IZtA=01A 3,240,000 3,600,000 /360,000
= 1,800,000
= 288,000
Al 1,152,000
02 QI A2 AL E R (0IETHR) 3,240,000 3,600,000 A360,000
OAE AIEE SXAIE X X3
90,000, 0002 3670 £ 3,240,000
= 1,800,000
= 288,000
Al 1,152,000
2SASEZID] EX1 - 2g2cldl NFAS 91,200 82,430 8,770
= 60,800
= 6,080
Al 24,320
402 QI2F X201 & 91,200 82,430 8,770
= 60,800
[ 6,080
Al 24,320




FA BE2U2F JI=UHII
I 9 JiRet toletE &4
Chel: HEEH o8 Jlgt =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 91,200 82,430 8,770
O==NMsSEEII| X - 2822l N
91,200,000& 91,200
= 60,800
< 6,080
Al 24,320
SAANEY HEHZ da A2 A 162,000 270,000 108,000
= 90,000
< 14,400
Al 57,600
402 QIF X201 & 162,000 270,000 108,000
= 90,000
== 14,400
Al 57,600
02 2IIHE AN 2 X (0IH TR 162,000 270,000 108,000
OZANYE BHA2 M& X2
81,000,000 *x20H 2~ 162,000
= 90,000
s 14,400
Al 57,600
JAEEI W) X XNZ A 63,000 0 63,000
= 35,000
=S 5,600
Al 22,400
402 2I2F X201 & 63,000 0 63,000
= 35,000
= 5,600
Al 22,400
02 QI XHE AL E R (01X THE) 63,000 0 63,000
OJAgEn dHd)| X A3
3,150,000 +20CH 63,000
= 35,000
= 5,600
Al 22,400
IHEE NsAS22e ESAME 860,000 940,000 80,000
= 516,000
= 103,200
Al 240,800
402 2IZtA=01d 860,000 940,000 80,000
= 516,000
= 103,200
Al 240,800
02 QI X2 AL EE(0IETHE) 860,000 940,000 80,000
OMEE MN=sAEYe BESAME 860,000




FA BE2U2F JI=UHII
I 9 JiRet toletE &4
Chel: HEEH o8 Jlgt =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMASE 600,0002 *100CH 60,000
= 36,000
== 7,200
Al 16,800
oget 100,0002 +8,000CH 800,000
= 480,000
== 96,000
Al 224,000
OIMIZHA 2= A2 29 924 924 0
301 EtE NS 924 924
11 dALEEIXIE S 924 924
0&REos 29 924
O3zl9 HAA g4I
8,000& » 12 #4323 384
Ol Ast 2|
45,0003 x12E*12] 540
ol & ASXHEHS It 22 13,100 13,400 A300
201 er23 | 13,100 13,100 0
01 At2teltl 10,100 10,100 0
OWASZE HICI2ItH et IHAEEX|
100,000 *23] 200
olIILE=E M= WF Hdlrs=
1,237,5002 *8IH A 9,900
2 S524g4l 3,000 3,000 0
oSS (MIIXSK) K22l
1,500,000 *2CH 3,000
A DEE RUSFFII| 2l 107,070 105,180 1,890
201 Ler=23 | 107,070 105,180 1,890
2 s5=34l 107,070 105,180 1,890
ORQUAFHFHI| 24| 8,520
OB 23 (2LIEEPRC)
110,000« 128 1,320
OsHRS(Z5FI)
15,000 »27CH* 123 4,860
OFII23 5,00020+27CH 122 1,620
OSISST SAS(LLLYR 2UR)
60,0002 «12& 720
ORQUAHZ=HI| AIEEHI=AH
3,650,000 27CH 98,550
A2SUSEYHI| F=BA === 200 50 150
201 Ler23| 200 50 150
01 At2teltl 200 50 150
OASIUSEYI| =M =8
100,000 *2CH 200
Tag L2as X= 98,472 198,038 N99,566




rtor

52
T koM

o
T
ra

f 101
et led x4

h o8t Jigt =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 27,588 137,100 109,512
M ORINZZE2NSES 27,588 137,100 109,512
ozZAS 2R JI2N22 X4 24,812
OFJI=1=) 76,9602 x4 H+26 2«3 24,012
Og&E=Itd| 200,000 x4 H =13 800
OCAUES JI2RE=2 2,776
Oo=gg=s 24,812,000 *4.. 5% 1,117
oY e 24,812,000 %3.495% 868
OFIIRULEE 868,000 %12.27% 107
ounsEs 24,812,000 *1.75% 435
O4tiEe 24,812,000 1% 249
201 er23| 70,884 60,938 9,946
01 At2teltl 7,084 9,688 A2,604
OZAS BAZ ANHAYS U 2HSKIA
SR 7,084
OLIFHOHEZ X MEAMA
80% *22,0000H 1,760
OZdESXA 2423 «22,0000HK 5,324
2 52434l 63,800 51,250 12,550
oR#ERs 63,800
Ooget 4003 %22,000S 8,800
o=y 2,500& 22,000 55,000
ANEASHEYOARAREE 2 2,400 3,900 21,500
201 2= 2,400 3,900 21,500
01 At22telt] 2,400 3,900 21,500
O3 FHE 100,000 4 & *63] 2,400
ZAS B2 IAHI(J12HH) 85,500 0 85,500
= 85,500
101 e124d| 85,500 0 85,500
= 85,500
04 JIZtNZ22 NS+ 85,500 0 85,500
OJIZHHZ22 X+ 21244| 77,000,000 77,000
= 77,000
O4i2E JI2RY= 8,500,000& 8,500
= 8,500
OINBIXIZRE tdet &3 &4 90, 163,684 91,452,062 1,288,378
= 53,680,634
== 10,911,741
25,571,309
Al OIMISHA 22l tHH s 2 3,200 4,000 2800
201 =3 3,200 4,000 A800
01 At2t2lt] 3,200 4,000 A800
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s x4
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BaS 0 &t A
A AT 3,200
29 234,450 207,184 27,266
155,700 151,034 4,666
67,200 72,504 Ab,304
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3202+10,0000H
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1,800

26,660
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01
ob

T2 A
6,500,000 *90H 2~

I
0z
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500,000 *2CH 122
150,000& «1CH+12&
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e

©

O
=
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O [0 0 02
oy oy

18,240,000 * 100 A
8,420,000 *1JH 2~ 8,420
SAHI(40 &) 6,400
50,0003 =4CH = 128 2,400
1,000,000 x47H 2 4,000
9,240
600

1,440
7,200
32,400
27,000
5,400
45,000 55,160 210,160
45,000 55,160 210,160
45,000

., 00

mszOHﬂ

oo 2z

Boo ¥
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= 2
m o~
e

sSS 22l

= 25,0002 =201 A+ 123
RS 10,0002+ 120 &+ 123
600,000 * 1290 2~

2
pS|
!

O
0
=
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o

Ho 2|
250, 00021 +0H A+ 122
50, 00021 +0H A+ 1224

45,000
33,750 0 33,750
33,750 0 33,750

EN
wd A S
5,000,000 *97H 2

21,000

01 A=l
ouiasdd AlZ old
21,000,000& %1042
12,750
9,900
2,850
308,847

297,000
59,400

401 AIZHIY 20

A11,847

s &X

9,900,000 * 17 &

OOIMIZX &eldl &
2,850,000+ 100 2~

Ot &X
Ooold &x

H




FA BE2U2F JI=UHII
I 9 JiRe toletE &d
Sl DIMPIKI2RE orEst 21 =4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 237,600
201 er23y| 297,000 308,847 A11,847
=S 59,400
Al 237,600
02 s3=gHl 297,000 308,847 A11,847
O Xl2teltl 33,000,000 *9IH 2 297,000
< 59,400
Al 237,600
oleta3=a8y £x 150,000 0 150,000
= 75,000
< 37,500
Al 37,500
401 AIEHIL2OH] 150,000 0 150,000
= 75,000
=S 37,500
Al 37,500
01 AlZ8| 150,000 0 150,000
ot|etFEZY ==&l uA
150,000,000 * 14 2 150,000
= 75,000
=S 37,500
Al 37,500
tolegael 322,080 418,080 296,000
201 223 322,080 418,080 296,000
01 At22t2ltl 264,000 360,000 296,000
OB & at=Xt LI
44,000,000 +6CH 264,000
2 s5=34l 58,080 58,080 0
OloT DIMIEXIZtE] 28 NHIARS
231,0002 «200H 2xx 12 55,440
OloT OIS XIZte] 28 S4R=
11,0003 x2004 2% 123 2,640
NSIt 2t 67,700 71,466 A3,766
201 Eer23 | 67,700 71,466 A3,766
01 At2tltl 1,350 2,120 ATT0
OXNSAt 2gHE tUHE M= 1,350
O=gMst L= 902 *15,0000H 1,350
02 S3=gHl 66,350 69,346 A2,99%6
OXtSIt 2BHMIE AIAE(CCTV) 2] 46,730
o&lIes 30,0003 x20CH« 12 7,200
Osties 1,461,000& «12& 17,532
OsXl2eld| 1,833, 1002« 12& 21,998
oRER3 13,500




2A:
X XH -
o e

=aak

- SHRABA) - HRAY - BES

Ofl &F2H

MEE
Ofl &k2h

4003 15,000
2,5002+3,000=
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]
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e
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e
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=
Ho
ut
OF

2043 +15,000CH*2=]

6,000
7,500

6,120

NIt POHKIR (&S

0K

)

Mo

=

24,900,000
12,450,000
4,980,000
7,470,000

35,580,000

10,680,000
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J

402 SI2+X}

T

o

[
i

Mo

=

24,900,000
12,450,000
4,980,000
7,470,000

35,580,000

10,680,000

SE(0IXMTHE)

ORIZIEZE MIINsSK 7 XA (&58)

10,000, 0002 *2,490CH

hoH

=

24,900,000

24,900,000
12,450,000
4,980,000
7,470,000

35,580,000

10,680,000

MIZHX POHKIR(EDIE2)

hoH

=

15,598,000
9,926,000
1,134,400
4,537,600

16,126,000

528,000

402 SI2ERHE0| M

o

=

15,598,000
9,926,000
1,134,400
4,537,600

16,126,000

/528,000

©
o
S
H
iU
0t
v
o
>

tsxh 7e R (AE3

22,000,000 709CH

hoH

=

15,598,000

15,598,000
9,926,000
1,134,400
4,537,600

16,126,000

/528,000

MEoHxt RHXI(HIISESEH)

0

hoH

=

1,120,000
560,000
112,000
448,000

1,120,000

o
N

402 I2HX}

i

ol

r
i

Mo

1,120,000
560,000
112,000
448,000

1,120,000

HEX(OIEE)

o8 MIINsSH 78 N2 (5ES

140,000,000:& +8CH

H

1,120,000

1,120,000
560,000

1,120,000




FA BE2U2F JI=UHII
I 9 JiRe toletE &d
Sl DIMPIKI2RE orEst 21 =4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 112,000
Al 448,000
HIINSK S 2c 11,000 11,000
201 er2 3| 11,000 11,000
02 S3=4gHl 11,000 11,000
o3 11,000
oget 4003 +1,2505 500
oSl 2,5002 +4,200S 10,500
HII0IEXE S AL 160,000 135,000 25,000
= 80,000
Al 80,000
402 QIF X201 & 160,000 135,000 25,000
= 80,000
Al 80,000
02 QI XHZ AL E R (01X THE) 160,000 135,000 25,000
oetEgE MII0IEX 7 X
1,600,000 *100CH 160,000
= 80,000
Al 80,000
MBI PR (=2EE) 12,730,000 18,894,000 26,164,000
= 8,550,000
== 836,000
Al 3,344,000
402 2I2EX=201H 12,730,000 18,894,000 26,164,000
= 8,550,000
= 836,000
Al 3,344,000
02 QI XHE AL E R (01X THE) 12,730,000 18,894,000 26,164,000
O+=2&I|Xt 7 K&
33,500,000 *380CH 12,730,000
= 8,550,000
= 836,000
Al 3,344,000
MBoHIH FOHKI& (=ATDAHA) 19,250,000 0 19,250,000
= 14,300,000
= 1,485,000
Al 3,465,000
402 2IZtA=01d 19,250,000 0 19,250,000
= 14,300,000
= 1,485,000
Al 3,465,000
02 QI X2 AL EE(0IHTHE) 19,250,000 0 19,250,000




FA BE2U2F JI=UHII
Mm: 9fD NRE 0DIBE TN
Sl DIMPIKI2RE orEst 21 =4 (12l M2
SA - B BRA(SH) - LA - BES of v e HIDE2
eSS PN T
350,000, 000:& *55CH 19,250,000
= 14,300,000
[ 1,485,000
Al 3,465,000
LPGItAX S &H| 2 413,000 735,000 A322,000
= 206,500
[ 61,950
Al 144,550
402 QI2F X201 & 413,000 735,000 A322,000
= 206,500
s 61,950
Al 144,550
02 QI EASEZ(0IETHR) 413,000 735,000 A322,000
O0gl0IS=txte LPEIIARE e XI&
7,000,000 +59CH 413,000
= 206,500
=S 61,950
Al 144,550
HOMAIE 2Rl 2 180,000 480,000 A300,000
= 90,000
=S 27,000
Al 63,000
402 2I2F X201 & 180,000 480,000 300,000
= 90,000
= 27,000
Al 63,000
02 RIENZAEE X (01 THR) 180,000 480,000 A300,000
OHAINAHA 2 K&
12,000,000 * 15CH 180,000
= 90,000
= 27,000
Al 63,000
AR IEIA HZAI(EIIHXXIY) 12,922,205 8,022,485 4,899,720
= 6,449,860
= 1,934,958
Al 4,537,387
201 Let=Ehl 22,485 22,485
01 AtR2t2lHI 18,000 18,000
OLSAST T ME ADHL2E
3,000 +6,000CH 18,000
2 S22l 4,485 4,485 0
oRER= 4,485
Ooggt 4002 +8,400S 3,360




A SF2e2] I
M ¥ HRE oI E =4
oSl DIMSINIZSE OHMEH 8 Xu (crol: m2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Os7l 2,500 *450S 1,125
402 SI2ERH=0IH 12,899,720 8,000,000 4,899,720
= 6,449,860
= 1,934,958
Al 4,514,902
02 QI TH2AIE EE(0IMTHE) 12,899,720 8,000,000 4,899,720
O=EASA FINHX NA(5S3)
1,600,000& *3,901CH 6,241,600
= 3,120,800
= 936,240
Al 2,184,560
OL2ASX ZIHK NA(USD)
4,000,000 *1,437CH 5,748,000
= 2,874,000
= 862,200
Al 2,011,800
OL-FZRA ZIIHIX K3 (ALEIIA)
3,730,000 »244CH 910,120
= 455,060
& 136,518
Al 318,542
SHASX BHIEIIA M2 AL (2 XIDPF) 752,400 7,600,000 6,847,600
= 376,200
& 112,860
Al 263,340
402 QIZERH=E0IN 752,400 7,600,000 6,847,600
= 376,200
= 112,860
Al 263,340
02 QIZEXHE A 2 (01 THE) 752,400 7,600,000 26,847,600
LA WHHZZX (OFF) 22 X2
3,300, 0002 »228CH 752,400
= 376,200
= 112,860
Al 263,340
SHUARX BIEIFA HZARL (A H X WHI) 907,500 1,650,000 AT742,500
= 544,500
= 108,900
Al 254,100
402 BI2HR=0l M 907,500 1,650,000 AT742,500
= 544,500
= 108,900
Al 254,100
02 QIZERH2 AL 22 (01 & &) 907,500 1,650,000 AT742,500




FA BE2U2F JI=UHII
I 9 JiRe toletE &d
Sl DIMPIKI2RE orEst 21 =4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAEIH AMTWH XA
16,500,000 *55CH 907,500
= 544,500
[ 108,900
Al 254,100
AR HEIIA H2ZALS (LPGSHERT) 100,000 1,000,000 900,000
= 50,000
[ 15,000
Al 35,000
402 QI2F X201 & 100,000 1,000,000 A900,000
= 50,000
s 15,000
Al 35,000
02 QI EASEZ(0IETHR) 100,000 1,000,000 A900,000
OLPGat=xt AIXF & I
1,000,000 *100CH 100,000
= 50,000
=S 15,000
Al 35,000
23012t IUEX dsKA 2l 45,149 0 45,149
= 22,574
=S 6,773
Al 15,802
402 2I2F X201 & 45,149 0 45,149
= 22,574
= 6,773
Al 16,802
02 QI XHZ AL E R (01X THE) 45,149 0 45,149
©Z2cld 150,004 +2210H 33,151
= 16,575
= 4,973
Al 11,603
(©=l3= pt—tal 6,000 x131CH 786
= 393
= 118
Al 275
OF i & 2l 22,3063 #257 T 5,75
= 2,878
= 864
Al 2,014
OEHE I 19,0062 * 14504 2,7%
= 1,378
= 413
Al 965




A SF2e2] I
Mm: 9fD NRE 0DIBE TN
oSl DIMSINIZSE OHMEH 8 Xu (crol: m2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OTHAIZEXI Z2cld 150,000 = 18CH 2,700
= 1,350
= 405
Al 945
HY2YAH|(sF 2228 JIFUI|H) 205,314 37,830 167,484
= 157,290
Al 48,024
eIE 2 A 157,290 0 157,290
= 157,290
TAZ BAYUR HH(BRH) 157,290 0 157,290
= 157,290
101 @124t 143,050 0 143,050
= 143,050
01 2= 143,050 0 143,050
OJl2= 109,586,400& 109,587
= 109,587
OGRS, 12,969
OlesRA=E 1,556,000& 1,556
= 1,556
OFS =t = 9,132,200& 9,133
= 9,133
(OFSF=sod=) A= 2,280,000& 2,280
= 2,280
oNE=< 1,680,000& 1,680
= 1,680
OE+2R=E 1,320,000& 1,320
= 1,320
OZAHZ A 5,040,000 5,040
= 5,040
OFEFItI 10,958,640 10,959
= 10,959
OAIII22+E 1,495,000& 1,495
= 1,495
204 MR AY| 7,740 0 7,740
= 7,740
02 =22 5,940 0 5,940
OXZEXH| 5,940,000 5,940
= 5,940
03 EE=2| 1,800 0 1,800
OtgIg =l 1,800,000& 1,800
= 1,800
M HSFE=S 6,500 0 6,500
= 6,500




FA BE2U2F JI=UHII
A HZYRAZH(BFZALIE2R JI=UIID)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 RYUALESHS 6,500 0 6,500
OHZEE JI2RY= 5,800,000& 5,800
= 5,800
OFIIRAEE JARES 700,000 700
= 700
=3l 48,024 37,830 10,194
JI23HI 48,024 37,830 10,194
201 2= 22,824 16,830 5,994
01 At22t2lt] 22,824 16,830 5,994
OJ1=2dR+=#B3H(01=3YI)
500,000 *18% 9,000
O=gHI(01=2HI)
8,000 x 182+ x 12 13,824
202 04| 21,600 18,000 3,600
01 2K 21,600 18,000 3,600
O=LHoHI(O1=34I)
20,0002 x18H+52 * 122 21,600
203 HR=H] 3,600 3,000 600
M EA2ER=AH 3,600 3,000 600
OJEH(202!0l5t) 300,000& * 122 3,600
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2A:

T E T e
=2l 365 MRE HF (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 LEt2E S 146,000 64,600 81,400
14 DBt 2 a3 146,000 64,600 81,400
osABen Lsxeuy NS
100,000 +323H 32,300
OSBRN HEXAS AL
100, 0002 x323% 32,300
OHABSN HANUBR SREU HRNE
3,300,000& «8H 26,400
OBABRH HOIAE
2,200,000 «25H 55,000
405 KHAHF SH 3,600 9,800 26,200
01 AL =S F=H| 3,600 9,800 AB6,200
OESRAEH W =& €2 ui 3,600
OKIEDI(HEI] LA E)
3,600,000& *1CH 3,600
MEMYDI] XM 17,740,738 13,588,440 4,152,298
201 L2 1,209,500 1,200,020 9,480
01 AFR2t2lt| 34,500 67,500 233,000
OSHIE M| HE S2E T
5,000& *6,0005 30,000
OHAN EINZ BLHES FHAEH A
= 50&#5,000A4ICH+10% 2,500
OHAREX B A=
100,000& «20H 2,000
02 2324l 1,175,000 1,132,520 42,480
SFPIESEREE 1,175,000
Oaz 10,0002 %160, 000& *50% 800,000
O0E 15,0002 25,0002 375,000
301 LENEZ 148,040 152,100 4,060
11 EAIAHIXIRA S 10,000 10,000 0
OAIZIZOINED] 201D KA
2,500,000 *44 +& 10,000
14 J|EtE &S 138,040 142,100 4,060
ozuseA Bl £20| 2
10,0002 <12 *2A| 2H83|+ 122 23,040
OZEZ SSMAM HM2E&= 115,000
OsX4 15,000&%2,250A 33,750
O=1uPNE 25,0002 *3,25024 81,250
307 212+01™ 16,253,198 12,001,320 4,251,878
05 2IR”IAE S 16,253,198 12,001,320 4,251,878
OHAEI| ALY 448
110,000& « 122 1,320
OMBHIIZ +TSH UH++a
16,251,878,000& 16,251,878
401 AlIEHIZL R OHYI 3,000 0 3,000




2A:

M g ESE
ol 365 IHRS = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 3,000 0 3,000
SHEA Xel 3,000,000& 3,000
405 KHaHF S| 127,000 127,000
01 ML ESFSHI 127,000 127,000
OZ AItHI2H( OIS A!) 92,000
odg+ 4,000,000 *5CH 20,000
ON&EF 4,000,000 ~5CH 20,000
O&g+ 4,000,000 *10CH 40,000
O+ 4,000,000 *3CH 12,000
OZAIPtHEHLEE) 36,000
OKM&E= 5,000,000 =3CH 15,000
O&g+ 5,000,000 =4CH 20,000
MeJ| SEM S5 M & 2 2,816,090 2,816,090 0
206 MH=Hl 2,815,090 2,815,090
01 MZH| 2,815,090 2,815,090
OMYDISEN HASE M 2,815,090
ogers 2,516,450
-Sele S 105 1,700, 150,000& 1,700,150
-MAHE (10216 S 38) 816,300,000 816,300
O8&E 166,400
S0cIH S 35 166,400,000 166,400
SRX22(202/8) 131,100,000 131,100
Odgx fEX=(202H)
1,140,000 1,140
301 LENZ 1,000 1,000
14 IIEt2d3 1,000 1,000
O=EAASE =St B4d=
500,000 22 1,000
HAHE dzg Jlgtxd 18,676,040 13,155,939 5,520,101
= 1,087,500
= 625,750
Al 16,962,790
SA=SF WIS XMl & 2 14,241,659 10,810,569 3,431,090
201 er2 3| 367,995 349,619 18,376
01 AtR2t2|HI 102,700 94,600 8,100
OSASRHIIZ Mele=+=8 §RES R
332 +2,700,0000H 89,100
OSHESEN S 2= M
3,000 *4,0000HK 12,000
OSAM=FHII= 24AN 4B
SRS 100,000 8 »23] 1,600
02 S3=gHl 265,29 255,019 10,276
ORFID HEAHEEHl =AI2==4I
1,700,000 *1,394CH *8% 189,584




2A:

NE: 9D WRS BACA HF X4
Rl HAHE d=g Jlgtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORFID JHE 2 &0l E4]
4,506%+1, 34CH+ 122 75,711
01 erema 191,664 88,200 106, 464
14 IErT a2 191,664 88,200 106,464
OBEZY SASRHIIE Hel+42 I+
B2 2oz
1,000 159, 720K 122 + 10% 191,664
307 SI2H01 T 13,682,000 10,267,750 3,414,250
CIEEES 13,682,000 10,267,750 3,414,250
OSASRIHDIE +TSH DAHL+E
13,000,000, 000%! 13,000,000
OSAZS B HR L
124,00021%5, 500 632,000
NEE BHo9 B1RE ASAA 904,552 1,113,866 A200.314
201 et ] 4,760 67,280 62,520
01 A Z2IH] 2,600 64,640 ~61.800
OBZANESETEI3 A3 Ha4D
100,0002+1421+23] 2,800
@ zz2) 1,960 2,640 7680
OHZEAl MEBHE BAOIE X4
19,600, 00024 *10% 1,960
206 K= 32,000 32,000
BT 32,000 32,000
OF SN WS +I1E
1,000, 00024 <2004 2 20,000
OHEZS HEX 48
300, 00024 474 7+ 07H & 12,000
01 YerEEa 17,000 17,272 ~2T2
USEErE) 17,000 7,000 0
OMEEE 48 2HWs T4 17,000
OB (3HR) 1,900
-19) 1,000,002+ 14 1,000
29 600, 0002 1 600
39 300, 0002 1 300
SECELIVYPS) 15,100
1949 1,000, 0002 *47H 2 4,000
59199 800, 0002157} 4 4,000
-10%1~14 600, 000 5742 3,000
~15%/~199 400,000 24557 2,000
20%1~26 300, 0002 7744 2,100
307 22H01 T 850,790 975,314 A124.522
RS 850,72 %1,200 A110,408
ONOHITH DIgH BEFE WYL - B2AH
2l DR R4 E 37,359, 0002! 37,359




QA BYRRIES R
T 9l RS FLCA F Xy
Rl HAHE d=g Jlgtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZSF HulZ Ml LANHIAE
523,433,000& 523,433
SZHHIY =HEd=S 440,000 440,000 0
= 80,000
= 72,000
Al 288,000
301 LtEN= 440,000 440,000 0
= 80,000
[ 72,000
Al 288,000
14 JIEt2d=3 440,000 440,000 0
SEHHIY +)2a
110,000 +4,000& 440,000
= 80,000
< 72,000
Al 288,000
sE sABE =) 11,440 11,440 0
301 EtE NS 11,440 11,440
14 IIEt2 83 11,440 11,440
OsAPIYLH 2at2 11,440
osely 1202142, 000kg 240
OSctAE 3203 *35,000kg 11,200
SASKHIIS HEASI| EXIAS 247,889 15,000 232,889
401 Al HIZL S 0HYI 247,889 15,000 232,889
01 Al 247,889 15,000 232,889
OSASRHIIZ HEANI| &3
2,214,000 = 100CH 221,400
OSASRHIIE NN SH2Y DX
378,40531+70CH 26,489
S =g 4XX& 12,500 15,000 A2,500
< 3,750
Al 8,750
206 M=Hl 12,500 15,000 A2,500
& 3,750
Al 8,750
01 =4l 12,500 15,000 22,500
OsBlEAIE HXIA
500,000 *250H 2 12,500
= 3,750
Al 8,750
SSHotY =X 25,000 29,914 A4,914
= 7,500
Al 17,500
401 AIEHIZ R HYI 25,000 29,914 A4,914




SN BHBRlER A
M 9D hRe BACAl HE IA
Rl HAHE d=g Jlgtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 7,500
Al 17,500
01 Al&H| 25,000 29,914 N4,914
SEHHE SSdotE £X
25,000,000& 25,000
= 7,500
Al 17,500
A MESAIZHYH 28 530,000 520,150 9,850
307 @I2to| & 530,000 495,000 35,000
05 git?(& = 530,000 495,000 35,000
OMEESAIBME 22/2d ?8=
530,000,000 530,000
SHIE WEES 43 =4 A8 ALY 165,000 155,000
201 er23 | 65,000 65,000
01 At2teltl 65,000 65,000
OFASEY =24 e
40,000,000& 40,000
OBAZHY DEYY KN
25,000,000& 25,000
301 22N = 90,000 90,000
14 JIEt2 8= 90,000 90,000
OFAZEY HOIX AHES
502 %100,0007H* 12& 60,000
OMESAHE WEAIY QIdIEIE
502 +50,00001 122 30,000
MeE3 =82 XA 8,000 8,000
301 EtE NS 8,000 8,000
14 0Bt 2as 8,000 8,000
ONES =8 XA 8,000
(@UFSEY)] 20,0003 200 4,000
OBMAHIOIZ & BHALA
20,0003 *200H 4,000
Ctal&J] 243t & AL A= 2,000,000 0 2,000,000
= 1,000,000
= 500,000
Al 500,000
201 er2 3| 100,000 0 100,000
= 50,000
& 25,000
Al 25,000
01 At2tltl 100,000 0 100,000
otal8J] 24zt 2 & 24 i
100,000,000 100,000
= 50,000




2A:

ME: 9D RS BEEA HE X4
&2l HARY d=g Jlgtxyd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 25,000
A 25,000
206 W20 50,000 50,000
- 25,000
< 12,500
A 12,500
01 Wl 50,000 50,000
oYM C+312T] 2
50,000,000 50,000
- 25,000
< 12,500
A 12,500
301 e A 850,000 850,000
= 425,000
< 212,500
A 212,500
TS 850,000 850,000
OLIBI8I| AL &3 QIMIEIS XIE
600,000,002 600,000
= 300,000
< 160,000
A 160,000
OFAUAE U3IBI| M)
50,000,000 50,000
- 25,000
< 12,500
A 12,500
01818 2 8= KIZAIUIOH 2HED)
200,000,002 200,000
H 100,000
< 50,000
A 50,000
201 AEBIL2THY 1,000,000 1,000,000
- 500,000
< 250,000
A 250,000
01 Al 1,000,000 1,000,000
OUIEIEI| IoTal+8 &)
1,000,000,0002! 1,000,000
- 500,000
< 250,000
A 250,000
WEE(HE3) AL 100,000 100,000
< 50,000




SN BFRRS NAZHD

3 %Ui’._ MRE FEEA EF 24
&2l HARY d=g Jlgtxyd EER=E)
M- B SRASH) - HRAR - B2 of v e HIDE2
Al 50,000
201 er23y| 100,000 0 100,000
=S 50,000
Al 50,000
01 AtR2tc|Hl 100,000 0 100,000
OO0I0I AT THAFS ALY 30,000
OAas82E 29 22,000,000 22,000
S 11,000
Al 11,000
OS=HUH M= 100,000 604 2 6,000
= 3,000
Al 3,000
O=H&A 2 5,000 *400H 2,000
[ 1,000
Al 1,000
Ot2IZ2E MHAISAIE 30,000
OMZE=E28 S9 22,000,000& 22,000
= 11,000
Al 11,000
OS2 M= 100,000 *60IH A 6,000
< 3,000
Al 3,000
FHEA 2 5,000& *400H 2,000
= 1,000
Al 1,000
oHgd+X MHEEMNE B AL 40,000
ONEENS M= 12,0002 *3, 000K 36,000
< 18,000
Al 18,000
Os=28U M 100,000 *407H 2 4,000
= 2,000
Al 2,000
et Hol=2c 201,870 16,870 186,000
PDISXelAEE 2 51,870 15,870 36,000
201 ger=3| 11,870 15,870 24,000
01 AtR2tc|HI 7,570 11,570 24,000
OHIIZ N=BBAA M=
8,000 x5 A +6E 240
OCAT(HI 22 M2MA)
100,000 %15 100
O=EUEHIIZ Xele===
300,0002*10& 3,000
O=HiHEHII= =&l SXz
400,000& x1& 400




FA g2 NI
M 9D R WACAl BE IA
ctelr HEs Hols2tel (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHlIZ d2&4 22+
300,000 *63] 1,800
OmHDISYM NE&EHZ LI=H| 2,030
ogg= 190,000 *7& 1,330
Ogest 100,000& *7& 700
02 S5=g4l 4,300 4,300 0
OZsSitg FAl2cll 4,300,000 4,300
405 KHoHF S| 40,000 40,000
01 ML ESFSHI 40,000 40,000
o=l EH 40,000,000 = 1CH 40,000
SYSL SZ2AHH 2SXA(U) 150,000 150,000
307 21201 & 150,000 150,000
02 QB AANEER 150,000 150,000
OS010! AUHSZTAL SHSE D BN
A2l S 150,000,000 150,000
HIIZ2 MelAlE == 5,429,669 10,638,854 A5,209,185
= 1,190,000
< 273,300
Al 3,966,369
EFAl H2HEE ZdA 4,176,842 9,383,000 A5,211,158
= 1,190,000
=S 273,300
Al 2,713,542
403 AXIEHHSAH=201H 4,176,842 9,383,000 A5,211,158
= 1,190,000
= 273,300
Al 2,713,542
02 ST 2SOt =2 A P E A I 4,176,842 9,388,000 A5,211,158
OFFAl M2UHEE gAY
4,176,842,000& 4,176,842
= 1,190,000
= 273,300
Al 2,713,542
ZAEE A Ol FU=SJAY 1,252,827 1,250,854 1,973
201 fer=3| 14,3% 12,421 1,973
01 AtR2t2|H] 12,090 9,350 2,740
ON2ied & F2U=IAAY ST e
2 Xl 990,000 ~1CH+ 112 10,890
O&EAHAZ2IZ(EST) Yelol=
600,000 *2H 1,200
02 S3=gl 2,304 3,071 NTE7
ONZ2MEE X FU=JAAY SR
==l 1,939&#5.4Lx220 2,304
401 A2 HIZL R 0HbI 1,238,433 1,238,433 0




2A:

Mm: 9D RS BEEA HE X4
Rl HIIE M2AE &3 EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 A=l 1,234,149 1,234,149 0
oOsd7s 70,000,000 70,000
OHI5t25S 70,000,000& 70,000
+=2|138 70,000,000 70,000
2145 70,000,000& 70,000
OXA26S 70,000,000 70,000
(OFFSEIS 70,000,000& 70,000
OXIES158 70,000,000& 70,000
OINE=G= 70,000,000 70,000
OME1BS 70,000,000 70,000
08328 70,000,000 70,000
OHlst21S 70,000,000& 70,000
OE=1c 70,000,000 70,000
Og=2c 70,000,000& 70,000
OstE 1L 70,000,000 70,000
OstE2e 70,000,000& 70,000
OAr2Ie] 70,000,000& 70,000
OAteI2e] 70,000,000 70,000
OFY7S S 17HA FRU=JAY AAIEH
29 1,190,000,000& *3.7 1% 44,149
03 Al< = 0HHI 4,284 4,284 0
OFY7S S MWla FE=SJAMY AILRN
] 1,190,000, 000& 0. 36% 4,284
Y 2AAH|(BZ 22 AN2EM) 68,444 67,408 1,036
Jl=23l 68,444 67,408 1,036
Jl=2&Hl 68,444 67,408 1,036
201 L2 30,644 28,408 2,236
01 AtR2telbl 29,164 26,928 2,236
OJl=gR=+gdasZHI(II1E3HI)
500,000& »23H 11,500
CEECIEIE==11)
8,000&*x23H 8L «12& 17,664
02 3224l 1,480 1,480 0
OAEZ IS X 1,480
O1E=A| 15,000, 0002 *1CH 8% 1,200
O& = A 3,500,000+ 1CH 8% 280
202 044l 33,600 34,800 1,200
01 =LHO LI 21,600 22,800 1,200
O=UWoibI(O1=ZHI)
20,0002 x18H 52« 12& 21,600
02 A0 12,000 12,000 0
OZEMOBI(HIISXEE) 12,000
OggHA 200,000 x4H 122 9,600




od
i’
oF
uJ

-

KIO

Hlw

MEE
Ofl &k2h

4,200
4,200

Ofl &F2H

2,400
4,200
4,200
4,200

- ESS

- SRA(E) - HIRAY

S - B

200,000 x1H 122

K]
KF
oF
oD

350,000& * 128




H £ Ol & AF S E Al A

F2AC|2F A2
HIIZ2S X2&stotes & ANE2E
Z010| QHAlGHE HDIS HelAlA (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SF2AC=2F A2l 34,388,807 30,586,909 3,801,898
HYI=2E XEztols 2lad AME2E 27,387,317 24,394,460 2,992,857
Z=210| etdot=s HVIZ XelAlE 26,609,765 23,720,145 2,949,620
A 2IAIE 2 10,609,000 11,306,000 697,000
307 @I2t0| & 8,340,000 8,970,000 A630,000
05 git?(& = 8,340,000 8,970,000 630,000
OME(HE)HIIZE RIEHNL
8,340,000,000& 8,340,000
401 AlEHIZL SO 2,269,000 2,336,000 267,000
01 Al&H| 2,269,000 2,336,000 267,000
OAZANE1Z)| 22 =2 A
561,000,000& 561,000
OA2ZTAIE 120] HI&H S22HI010 WAl
380,000,000 380,000
OX2TAIE 287| EHAAEHSE(SIR) WAl
1,000,000,000& 1,000,000
OAZLAE1SI] HEI | WX
328,000,000 328,000
et gy 282 2,068,504 1,023,469 1,045,035
201 Zet=3h] 309,064 228,789 80,275
01 AtR2te|HI 194,275 122,324 71,951
ONEd SFLEEZA =2 117,110
OomANUE BESH
1,320,000 * 104 2* 12 15,840
OTAWBI(2T) F5+
1,320,000 * 14 A% 12 15,840
OZ e Kot BAE & Bikl=
170,0003 44 A x4 2 2,720
OBAUYR F0i Nsia ZA(MEES)
140,000 * 1 %4 560
OBAMYE FHOIS Xsts 2A(SES
) 270,000 =174 2= +43 18,360
ONBERNZE 85+ 2 Hel+
1,320,0002 x4 4 x4 21,120
OASZ20E Xt BAE L K=
140,000 x 1101 243 6,160
ONES=UEE =8 s+2 & otd+
350,000 44 A 23 2,800
OASZS2UEE = Kot (dE2%)
140,0003 204 A x4 2 1,120
OZSed &=+ 01522 =8 XIots
170,000 44 2xx2E 1,360
OZ4ligd He= Kot
270,000 %10 2x23] 540
OANESEZUMEE =8 28 NS E
A 1,150,000& * 1271 2+ 13 13,800




A SFzel2] el
M HII2E2 NHstote d8d AE2Y
chel: 10| QrAIBHE HDIZ H2IAIA (crol: m2)
M- B - 2(31) - HIRAY - S il &k e HlmS2
OMNESSZUEZ HEIA ZAt
1,065,000 *6 0 2 *13] 6,390
OMNESZUEZE KIEHHEE HA}
3,500,000 *30 %13 10,500
O HE HOIE S&ZAMN =2
2,433, 7503 43| 9,735
Ol &&= &KX A
2,420,000 *43] 9,680
OMNESZUEE MEHIIZAAH4R)
21,500,000& 13l 21,500
OHTHZAMNEE AISESZAM 8,036
OZEE &2 2,350 A=2s28
At 8,035,500 *13] 8,036
OS+YLITTHI(SHAE)
8,000&*10Z 8L 10& 6,400
OME BZ22X A% 7Y
6,600& *x18=+12& 1,426
OFIIHEBR| f8 242
200,000& 123 2,400
OY&IOtAT 2 60,0003 x40% A 2,400
ONgd 2J2el2 X A=
880,000& 10+ 122 10,560
OHEXPY 468
OSIHEEX 24,0002 x 128 2838
OFAEEX 90,000 27 180
ORIEHIAAYE 25 4,560
OZIMgE 200,000& =123 2,400
OAR4 180,000& *12& 2,160
02 E324Hl 114,789 106,465 8,324
OZSNEH MRS 25,098
oJl2ea 12,768
-UBEE(2) DA
8,280 x73 W« 1JH L+ 128 7,210
“MAE(Z) 1 DA
7, 4703 = 17KWx 100 A+ 122 1,524
“MAE (21 1DUA
7,470 x45 W« 1 2+ 128 4,034
oNEHRI 12,330
~2UBHE ()11 DA
135& *4, 000KW* 101 A+ 12 6,480
M () 1 DA
90&*3, 500KWx 101 A+ 12 3,780
~AHAE () 11 DA
115&1*1, 500KWH* 10 2% 123 2,070
OZEHMNEH A= 947
oleea 431
-SEIEME 9102+ 15KWx 1D 2% 12 164




FA B2 22
M oIS Adetole datd AE2E
Chel: Z:010] QHAIBHE HIDIZ H2IAlA CERL
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—MAE ()N Y
5,550 #4104 A% 12 267
odgEgERs 516
-FEEY OB *200KW+10H A x 122 224
—MAE (MY
813 *300K+ 10 2+ 12 292
O2gledy B8 ks 1,573
oJlges 1,466
~ARIB (2R Y
5,550 x22KWx 10 2+ 128 1,466
odgges 107
LB ()N Y
81 *110KW1DH A% 12 107
OXSIHAl 2e HIAl 1,412
ougss 660,000 *1CH*12] 660
OxdstE 26,0003 »2LH*12] 52
Otgst=(8.58) 120,000& *1CH*13] 120
Oligst=(4=E)
220,000 *1CH*13] 220
Og=(158) 180,000 »2LH*13] 360
OEZNERE () 540
Ox83stE 80,0002 x1CH*23 160
Othgst=(8.58) 190,000 *1CH=22| 380
OXEEER (MY, ZE) 3,560
olgss 600,000 *1CH*12 600
OxgstE 380,000& x2CH*13] 760
Osgst=(58) 600,000 «1CH*12] 600
OUgat=(8.58) 600,000 «1CH*13] 600
Oliglst=(4=E=)
1,000,000 *1CH*12] 1,000
Oos&Hl 2= 2,000
O=4J| S 55 400,000 *5CH*13] 2,000
OsEHl RAl2el 15,000
osJlgs 2,500,000 «2CH 5,000
O=4| 5,000,000 1CH 5,000
O=&HM 5,000,000 *1CH 5,000
Oxtg & SHH| BA =2 543
OXtE 60,0002 *5CH*13] 300
Os&H| 48,5002 x5CH*13] 243
O&HI==U 1,830& 1,500 £ =12 32,940
OXter | 27,600
OsEsxt 4,900,000 1CH 4,900
Ostsxt 4,300,000 ~5CH 21,500




FA B2 22
M oIS Adetole datd AE2E
Chel: Z:010] QHAIBHE HIDIZ H2IAlA (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHESHIIRY HI)
100,000 1CH* 12 1,200
Ol ==cl 50,0002 504 250
OZSEd 0V S&2=s
200,00021 % 17§ A+ 122 2,400
OZIWYZ KV S423
38,5503 *20 A+ 123 926
203 HR=AH] 2,000 2,000
03 A= PR F&IH| 2,000 2,000
OHJl= HEd g4 2,000,000& 2,000
206 M=H| 32,440 32,680 A240
01 M=8l 32,440 32,680 A240
Olfgd & FHIS dHAs 13,440
Oonst 4ZEHMHEE W)
60,0002 x20S+62 7,200
O%Y MM (HEE % S NY)
60,0002 x10S+62 3,600
OgoasMigd & e Xd)
22,0002 x20S+62 2,640
ORTMUHTH(+=EHIANE) & S 01852
2 3482 1013 4,600
ORd =4 100,0003 * 102+ A 1,000
OEaxE I 360,0002*10H 3,600
oza2cl 5,400
ON=N & &K 18,0002 *300& 5,400
daZE (e A2c2 HEAgE)
4002/%10,000kg 4,000
O 2d22lE8 224 XM
5,000,000& *12] 5,000
207 AR 50,000 380,000 330,000
01 H7ESHI 50,000 380,000 A.330,000
OANSSRSAIE FHSHISSS XA 50,000
STMEE FHSISSSS A
50,000,000& *13] 50,000
401 AIEHIX R0 1,450,000 95,000 1,355,000
01 AlZ2H| 1,450,000 95,000 1,355,000
OFFHIGME Y ASSE SA 1,365,000
O3 A 1,300,000,000& 1,300,000
O& A 55,000,000 55,000
OZSMEH ANEFAE=H
90,000,000& 90,000
o&sEs NRLX &4 5,000,000 5,000
405 KHaHE SH 225,000 285,000 260,000
01 Tt =S F=HI 225,000 285,000 260,000




Jci ZEtd ANd=2E
210l erstl= HoIE XelAld (Sl X))
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
ongs AL (2RH) 7L
225,000,000 *1CH 225,000
2ES HEAE 22 4,023,718 3,820,000 203,718
307 212t01 & 3,963,718 3,690,000 273,718
05 212+ = 3,963,718 3,690,000 273,718
OMEEE WAL 2|
3,963,718,000& 3,963,718
401 AlEHIZL SO 60,000 100,000 40,000
01 Al&HI 60,000 100,000 40,000
oNgE=S HdEAE Sl
60,000,000 60,000
SAESFHIIS NHSAE 29 9,539,608 7,312,636 2,226,972
207 AR 78,000 43,000 35,000
01 A1E9H| 78,000 43,000 35,000
OSAESFHII= MHESAE AFD =8
78,000,000 78,000
307 212+01& 8,282,608 6,957,636 1,324,972
05 2IZtAE =S 8,282,608 6,957,636 1,324,972
OSAEFHIIZ 2L A2
4,213,908,000& 4,213,908
OFJldHIZE HHXZAIE AS2SHI
4,068,700,000& 4,068,700
401 Al HIZ S OHbI 1,179,000 312,000 867,000
01 A28l 1,179,000 312,000 867,000
OSASFRHIIZ NH2eNE &3S 1kt &
+J| = WA 290,000,000 290,000
OSAlEFHIIZ NH2E ST s
A235% & ot uH 385,000,000 385,000
OsA=FHII=Z NHEAE EHIESI] 1
SEX 2 SEE WH 504,000,000& 504,000
EEZNHXIEIZ 2el 49,440 48,040 1,400
201 ZB=Eh] 15,600 13,200 2,400
02 s3=gHl 15,600 13,200 2,400
OzSFUHUXIEIZ &IIR=s
1,300, 0002 123! 15,600
206 MH=HI 4,840 4,840
01 =8l 4,840 4,840
Oz 2BUUKEIZ E=StAE 222 &
2T 4,840,000& 4,840
401 AIZBIX =20 29,000 30,000 21,000
01 A28l 29,000 30,000 A1,000
OZ2BUUHXIEIZ SHH2AE 2=
29,000,000 29,000
METHIISHMEIAIE S0t 20,000 20,000
401 AlEHIZL SO 20,000 0 20,000




FA B2 22
M oIS Adetole datd AE2E
ChSl: Z=DI0I OHAIBHE HIDIZ M2lAl (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 20,000 0 20,000
HEHDISXCIANE SEeEol HaE
= 20,000,000& 20,000
2a0tA HIEAAHN HEH e 359,49 369,495
308 AtXIEMSOIE 369,495 369,495
12IJIEetF8=s 369,495 369,495
O2&ItA HiEHHHM HHEH HYHIS
359,495,000 369,495
=AM 22 717,552 674,315 43,237
AL S FUXAEAM 2SS X2 361,422 326,090 25,332
301 EtEE S 347,422 326,090 21,332
14 IIEt2 8= 347,422 326,090 21,332
OF =3 FFLANE FULANRA 2 347,422
OaZAE FRZARE URY 312,501
-Jl=s 163,671 x5 +x222 12 202,846
SE(ENFSFH=E
153,67 121458 +642! 49,175
R
19,2002 *150%+5 8 x35A1 2+ 122 60,480
O4lHEE JI2RE23 34,921
=83 312,501,000 *4. 5% 14,063
-AL 2 312,501,000 +3.495% 10,922
“AIRAYEE 10,922,000 %12.27% 1,341
-1ELE 312,501,000& *1.75% 5,469
“CHHEE 312,501,000 * 1% 3,126
307 @I2t01 & 4,000 4,000
02 LB HANHEE 4,000 4,000
OBZAZALAAIL FOIX /ST
&K As XS 4,000,000 4,000
2 FUXE2AM 2SR 366,130 348,225 17,905
201 er23| 2,400 2,400 0
01 At2teltl 2,400 2,400 0
O=2XNAI =284 BH+E
100,000 x6 & *4=| 2,400
301 EetE NS 363,730 345,825 17,905
14 0Bt 2as 363,730 345,825 17,905
OFFd ZYMEE FULBANRA 22 361,640
Olfgd LAY 212 325,291
-JlZs 76,9603 x11H 22 « 12 223,492
SE(UMRIFIH=E
76,9602 x11H 64 54,180
RS
9,620 *150%* 11E *25A| 2k x 122 47,619
O4i2E JI2RY= 36,349




2A: Zae=2F 2l
M HOI2S N stole ®Ed AIE2Y
Cel: FOIXAFEON 29 (69 =)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
=013 325,291,000& *4. 5% 14,639
-H2AEE 325,291,000 *3.495% 11,369
A QLEE 11,369,000 %12.27% 1,3%
-IEEE 325,291,000& *1.75% 5,693
—ATHEE 325,291,000& * 1% 3,253
O=CULARE I=4I 190,000« 11 2,090
Yy 2HAY(sF AL |2 &2 1,240,348 614,129 626,219
oIz 2| 1,189,931 564,118 625,813
i Fals]l 1,189,931 564,118 625,813
101 2124d| 1,126,528 502,800 623,728
03 SR (RIAHL) 22X B4 1,126,528 502,800 623,728
OsZZ2A 1,126,528
(OpIE== 211,062
—29E0|&~30= 012t
2,676,830 3B+ 12& %, 366
-1940|&~20 0] 2F
2,389,500& x4F+12& 114,6%
(OGS 120,156
|2 2,800, 840 7 H *43| x50% 40,052
S22 2,860, 8403 *7 B *23| x50% 20,026
—HISECHEY] 2,860, 8403 *7 B +63| x50% 60,078
OBoULY 9,955
—S4e2 AKX 42
90,000 x7H*12& 7,560
&g HAY 70,0003 *7F 123 5,880
s = I Py 130,000 *7H*12& 10,920
iEay 100, 00024 #7212 8,400
a0y
" 157 6053 x7 B x5 x 12 66,195
O=sc2l=Mb]| 36,072
~SHZ A 140,000& *7F + 122 11,760
-EEZOH| 2,894, 2203 +60%+7 B *23] 24,312
OFM=X 13,320
ks dull 80,0003 *7H 123 6,720
-Reg 50,0003 *7F* 128 4,200
SR =y 200,000 x 18+ 12& 2,400
Odxteaxits=e
167,470 7 23 26,963
OEI&Z Jat 620,000,000& 620,000
303 ZAS 7,220 6,224 9%
02 a3 7,220 6,224 9%
(@I = 2,750,200 *37 . B%*7H 7,220
34 HI2RE3S 56,183 55,04 1,089




FA B2 22
E: ¥¥eERY|(BF22= N2
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 d=2g3 22,626 22,589 37
O=8g=s JIARE=
502,800,000& 4.50% 22,626
2 =uAHdEE= 19,730 19,202 528
O=¢g2A JIARE= 19,730
OH23=EE 502,800,000 +3.495% 17,573
OFIIRAEE 17,573,000& *12.27% 2,157
4 R (RIHAL)22N EEHERES S 13,827 13,303 524
ONE - MNESE JIARES 13,827
O1nE=2d 502,800,000& *1.75% 8,799
O4tHEE 502,800,000& x1.00% 5,028
=&l 50,417 50,011 406
JI=23Hl 50,417 50,011 406
201 Ler23 | 30,017 29,611 406
01 At22t2lt] 28,682 28,276 406
OJ1=2dR+=#A3HI(01=3Y)
500,000 * 142 +97% 6,790
ozgt(01=23dl)
8,0003»14H 8« 122 10,752
O=EZFA L=y 6,160
oxg= 90,0003 7 H*65 3,780
ogst=s 100,000& 7 & *15 700
Oetd gt 60,0002 *7 & =22 840
ogte=z 15,0003 7 & +23] 210
Odsat 15,0003 7 +23] 210
o= 16,0003 *7 & *23] 210
(@R 4= EN)] 15,0003 7 & »23] 210
otl2+=E 960
(OESSIN 20,000 * 10 Atx 128 240
OXIgX 15,0003 *4H At 12 720
olgd g 60,0002 x 167 4,020
02 S3=4gl 1,335 1,335 0
OISR A SZ oL SHI(40h)
30,0003 *7 & *13] 210
OEERA FHIZY
150,000 7 *30f% 315
oRERs 270
oggt 400350 20
OSJI 2,5003 1008 250
OJHOIEV =tz 15,0003 =34~ 123 540
202 04| 16,800 16,800
01 2LHoIH 16,800 16,800
O=UobI(O1=Z2HI)
20,0002 x 14 +52 12 16,800




FA B2 22
I B¥eERY|(BF2= N2
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 HR=H] 3,600 3,600
M EAEER=A 3,600 3,600
©J1E2(2021015t) 300,000& * 122 3,600
Nees(eZaezs Atz 5,761,142 5,578,320 182,822
SHAHX S 5,761,142 5,578,320 182,822
LHEHHXIE 5,761,142 5,578,320 182,822
RISdES 5,761,142 5,578,320 182,822
01 oIsdE=s 5,761,142 5,578,320 182,822
OZSHIISHEE FHISA S F2UXH
= 3,440,430,000& 3,440,430
OXF BAAAAL FHABTA =X
2= 2,320,712,000& 2,320,712




Al A

>
L]
>
I?
02

1
_'ﬂ
0x
02
J
=1
14
ror
0y
i
o
it
1t
ol
N
Pl
o
=)

Ilg'}—’r\— 2el o
Aot 25 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
cl=22 ot=3& 14,604,806 6,428,470 8,176,336
= 2,100
Al 14,602,706
At 2tel 28,900 71,900 /43,000
== 2,100
Al 26,800
Aot 25 2el 28,900 71,900 /43,000
< 2,100
Al 26,800
Kot AlE = 2tel 1,400 11,400 10,000
201 er23 | 1,400 11,400 10,000
01 At2teltl 1,400 1,400 0
OXlot=0l8FE= FUE LA
70,0003 »202 A 1,400
Aot &S FH=S7 A2 A 10,500 10,500 0
s 2,100
Al 8,400
301 EtE NS 500 500 0
& 100
Al 400
14 JIEt2 8= 500 500 0
OXlot= ZXE I MBS
500,000 500
= 100
Al 400
401 AIZHIX 20 10,000 10,000 0
=S 2,000
Al 8,000
01 AlZ8| 10,000 10,000 0
OXlots EXE o=+
10,000,000 10,000
< 2,000
Al 8,000
Kot SAZEI| EXIAS 17,000 0 17,000
401 Al HIZ S 0HbI 17,000 0 17,000
01 Al&H| 17,000 0 17,000
OXlots SAHFHI| EXIA
170,000 10094 2 17,000
HY2HGH(BHULIER St=F ) 16,908 16,032 876
Jl=3H| 16,908 16,032 876
Jl=3H] 16,908 16,032 876
201 er23| 7,608 6,732 876
01 At2teltl 7,608 6,732 876




SA: BARZR SR
M AAMPIAH(SP2C/2F ot=F )
Chel: J1=2 &l EER=E)
2 - IE!
SN - BE - BI(EH) - MRAY - BES ol ke e HimES]
©J1=2ZdI(01&&Hl) 500,000 «6H 3,000
O=gHI(0IE23HI)
8,000 6 H 8L« 122 4,608
202 (4t 7,200 7,200
01 =04 bl 7,200 7,200
O=ZLHOHI(O1=Z2HI)
20,0002 6 H 5128 7,200
203 =& 2,100 2,100
04 RA2LHRFEH 2,100 2,100
©J1EH(1021015t) 175,000& <122 2,100
NReas (s =22 ot 14,558,998 6,340,538 8,218,460
SHHX = 14,558,998 1,840,538 12,718,460
LHEHHK = 14,558,998 1,840,538 12,718,460
701 DBt HISHES 14,558,998 1,840,538 12,718,460
01 JIEISIHEES 6,033, 150 1,814,690 4,218,460
OBT/OIE AESE L 2Y(HFEHMS
=3H) 5,485,000
O2T2ot=HMelAlE AXI(SLU)
8,000,000& 8,000
OLAZotrHelAE EX(8EEE4)
600,000,000& 600,000
O2R2otrHMelAE AX(EAS)
60,000,000& 60,000
OAT2at=HMelAlE ZXI(E017201)
600,000,000& 600,000
OLAZotHelAlE AXI(ZLHAIR)
93,000,000 93,000
OBt+Z2IYI(FES, BYS LR)
3,504,000,000& 3,504,000
Odt==2Z A2 GHAHS ALEI
20,000,000 20,000
Ol 2=2| o= &HIALY
600,000,000& 600,000
OHIERER 2ol (s=ZHEdSHSIH) 448,150
OHIEQIM2AAIE SXI(HE)
36,000,000& 36,000
OHIESENZAIE FAl2c
412,150,000& 412,150
OYE0IEAE EXAY FE(FENEEL
31 100,000,000 100,000
2 BILAEEIHBLEES 8,525,848 25,848 8,500,000
OXIot+R2H dE =S (A+TAMHSEE
313 25,848
OsXg (&4 B2XY)
8406002 * 123 6,048
OSXS (&= 0I22XY)
1,000& %1204+ 123 1,440




SN BHBRlZR SR
By (RS (s2Bol2S slaEU)
=l WRAAXE EEREE
=] X . CLO|( 5 = HANS }OH ST =3}
‘I‘kl * O-I_I * ;_'I"I(QID:") ° k”‘I‘AI'g * S 01"&—| O:H&OH HIJ-Lo:l
OSHNY (M5 B3XY)
Q002 x2002H 128 2,160
OSHIY (M DIESKY)
1,500& 90024 122 16,200
osHHRAot=Hel&22Y (ot AIESY
3H) 8,500,000,000& 8,500,000




20238 =0ila eS| etd2c|2R M ~ SF2Ac=2R

e
02

Al A

ol
N
_>1|_'
o
=)

FA SF2c|2F ot
33 otexelAld 22kl
cel UaIlE2LH2IAE g (o) &)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
sFae|2F ot=xell 2,174,340 2,545,211 A370,871
ot=XclAlE 232l 2,174,340 2,545,211 A370,871
==l SERXelAd 222 2,174,340 2,545,211 A370,871
U= el 22l 2,174,340 2,545,211 A370,871
307 @I2t0| & 2,090,000 2,390,500 A300,500
05 2I2+?& = 2,090,000 2,390,500 A300,500
OU==IIE2 = IlAIE 2e|tgid|
2,090,000,000& 2,090,000
401 AlEHIZL SO 84,340 149,711 65,371
01 AlZHI 84,340 149,711 65,371
OU=IIE2EXCAIE [
30,000,0002 30,000
OULIIEZLHRIAL DU QHE
19,800,0002 19,800
OU=It=2=XMelAE EE=SE X
HHIIE QHE 17,840,00024 17,840
OUAIIZZ L HEIAL JILLAE A
& 16,700,000& 16,700




